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61 4,976 1,415 1,148 986 9 195 47 1,176
62 4,976 1,405 1,131 1,003 9 190 45 1,193
63 4,976 1,360 1,116 1,026 10 182 44 1,238
JT 4,976 1,350 1,098 1,046 10 177 42 1,253
2 4,920 1,339 1,081 1,063 10 - 176 39 1,212
3 4,920 1,329 1,062 1,081 10 172 39 1,227
4 4,920 1,302 1,032 1,097 8 169 36 1,276
5 4,920 1,293 1,013 1,118 8 165 35 1,288
6 4,920 1,278 999 1,132 8 163 34 1,306
7 4,920 1,271 986 1,137 8 160 M4 1,324
8 4,920 1,257 977 1,152 7 160 34 1,333
9 4,916 1,248 967 1,165 7 159 33 1,337
10 4,916 1,228 949 1,183 7 157 32 1,360
11 4,916 1,209 925 1,197 7 151 29 1,398
12 4,916 1,194 916 1,209 7 148 29 1,413
13 4,916 1,184 908 1,218 7 147 29 1,423
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| 61 | 100.0 28.4 23.1 19.8 0.2 3.9 0.9 23.7
62 100.0 28.2 22.7 20.2 0.2 3.8 0.9 24.0
63 100. 0 27.3 22.4 2.6 0.2 3.7 0.9 2.9
5 100.0 27.1 22.1 21.0 0.2 3.6 0.8 25.2
2 100.0 27.2 22.0 21.6 0.2 3.6 0.8 24.6
3 100.0 27.0 21.6 22.0 0.2 3.5 0.8 24.9
4 100.0 2.5 21.0 22.3 0.2 3.4 0.7 25.9
5 100.0 2.3 20.6 922.7 0.2 3.4 0.7 2.1
6 100.0 26.0 20.6 23.0 0.2 3.3 0.7 2.5
7 100.0 25.8 20.0 23.1 0.2 3.3 0.7 2.9
8 100.0 25.5 19.9 23.4 0.1 3.3 0.7 27.1
9 100.0 25.4 19.7 23.7 0.1 3.2 0.7 27.2
10 | 100.0 25.0 19.3 2.1 0.1 3.2 0.7 27.6
11 100.0 24.6 18.8 2.3 0.1 3.1 0.6 28.5
12 | 100.0 24.3 18.6 24.6 0.1 3.0 0.6 28.8
13 100.0 24.1 18.5 24.8 0.1 3.0 0.6 28.9
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WET—=T B 17.3 X 2l 74.9 EHB—-TH 12.8
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1| 1228 —6.0 3.2 55.5 2.5 89.0 22 3 5 1
2| 1996 —2.7 5.0 53.9 2.2 15.0 21 5 2 0
3| 236 —19 8.5 55.4 2.4 91.5 23 4 3 1
‘4| 2.4  —0.9 14.9 56.2 2.2 28.0 23 5 2 0
5| 30.6 6.8 19.2 65.1 1.9 144.5 18 9 4 0
6 | 34.9 15.4  28.0 42.8 1.6 199.5 23 3 4 0
7 | 416 29.1 24.2 57.7 2.0 44.0 24 5 2 0
8 | 40.6 18.5  26.2 67.6 1.8 122.0 9 20 2 0
9 | 33.7 0.2 27.1 95.3 1.7 218.0 14 11 5 0
10| 28.3 8.2  22.3 95.1 1.8 263.5 17 10 4 0
11 22.3 1.2 16.6 95.2 1.7 108.5 24 4 2 0
12| 6.1 -2.3 6.2 61.7 2.3 16.0 25 5 1 0
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